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BHiI#RXE s 6,100 2,944 3,156 2517
H 0 76K 7 4 3 4
DA HE 2 1 1 1
Ailh/5 16 10 6 6
Al X% 7 3 4 3
Hi{=E 33 16 17 10
Bt/ N 16 7 9 7
Al /R 6 2 4 1
HDfREE 306 138 168 126
A& 15 269 123 146 111
=B 234 115 119 74
HiDEAH 7 3 4 2
Hil+% 107 49 58 47
=RUEES 165 83 82 72
HilEH 455 233 222 173
HilFEH 275 138 137 110
HiliEH 3 1 2 3
HIAF 89 40 49 49
Hilit 139 64 75 65
H D25 B 323 136 187 157
Bt 110 54 56 46
ERIIEES 411 226 185 203
HilfEH 79 39 40 38
HilEH 152 73 79 80
Hil 89 39 50 37
B/ B 38 19 19 15
HilFE 382 180 202 154
=B 75 34 41 30
=REA 116 50 66 52
HilHE 353 184 169 102
HilFEER 392 197 195 146
0 136 62 74 58
HilE4 it 78 39 39 28
E=EETI 1,214 575 639 499
By 15 6 9 7
HEEE=TH 1 1 0 1




